D116 BCOM-03

B.COM. FIRST YEAR EXAMINATION, 2016
(Correspondence Course)
PAPER -Il : FINANCIAL ACCOUNTING

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

Ao : @yt gog g7 Fiforv ) Ty geTl & 3F G &/

u.1. ufasdt aY / Pass the entry

1. IF DI 10000 ITY HT TTA 5T |
Goods sold to Ram Rs. 10000

2. A B 5000 AT ORI |
Salary paid to Amit Rs. 5000

3. i &l Fas gamg 2000
Cash paid to Sumit Rs. 2000

4. WADI 5000 B BT AT 947 |
Goods sold to Ramesh Rs. 5000

5. 99 H1eT 999 a1 1000
Goods returned by Ramesh Rs. 1000

6. 9 fearferar 81 a1 9 HUA H 20 U= fiyet |

Ramesh became insolvent and received 20 Paisa in a Rupee from him.
7. A9RI gbrg 1000
Wages paid Rs. 1000
31erdar / OR
ARG TRV BT JUf BT |

Describe Accounting Concept in Briefly.

¥. 2. 1SHa< 2005 BT Y fo1. 1 b 799 5,00,000 5 RIS | §RT 10% W.D.V. fafey
AT 8 | 1 JeR 2007 &1 9efF &7 1 /5 9RT ¢ 81 77 9 I9 25,000 H
a3 T 98 79 1,00,000 T F TR | 7ofH QT sy |

(i) ®.Y93./PT.0.



On 1January 2005 one machine purchased from Y Itd. for Rs. 5,00,000.
Deprication charge @ 10% by W.D.V. Method. On 1 July 2007 */, part of
machine got damaged and sold it Rs. 25,000 and another machine
purchased same days for 1,00,000. Prepare Machine A/c.

37erg1 / OR
S TG U FAT 82 W P AR ?

What is Bank Reconciliation Statement? How it will be prepared?

¥. 3 Tfasct #/Pass the Entry.
(i) FRpaadaIar 200 . A 31fdH o
Sales book over Cost by Rs 200
(i) B/PEH B AN 100 B. A FH o
B/P Book under cost by 100.
(iii) < @I AT ST 1000 . TR oG o T
Goods sold to Ram Rs 1000 but omitted
(iv) DI TE BT AN 1000 F. A HF o |
Purchase book under cost by Rs. 1000
31241 / OR
‘@I'CEE‘I JE FTE? 3@[ A IR PV /What do you mean by Cash book? How
will it be prepared.
Y. 4. On 31 March 2005 the following Balance Sheet of Ram Ltd.
Llabilities Rs. Assets Rs.
Capital X 50,000 Cash 50,000
Y 30,000 Building 40,000
Creditor 20,000 Debtor 10,000
Profit and Loss A/c| 50,000 Machine 50,000
1,50,000 1,50,000
Z P! T ARASR & U H 7 oraf o= yaer = |

(i)

9.5.

Z admited as a new partner on following term.

(i)  Z3= goit 10,000, AR 5000 S AT & |
Z brings his capital 10,000 and Good will 5000 in Cash.

(i) 999 20% FEICHTE |
Building Reduced by 20%

(iii) =T 70000 Heifdrd DI TS |
Machine valued at 70,000
(iv) TSR 10% 3 Ty |

Debts reduced by 10%

g edia 1T Yoft @d 7 fIesT gy |
Prepare Revalution A/c, Partner's Capital A/c & B/S.

31gr / OR
AR BT FHUT AT &2 F&T H gui ) |

What do you mean by Dissolution of Partnership? Describe it in brief.

INGT AP HeoT b DRI g8 ? IR H i@ HFD P R Bl vfchar sy |

Give the functions of Accounting Standards Board? Also explain the process
of issue of Accounting Standards?

31gr / OR
cwufl RT/ Write short notes on.
1. €191 219 / Insurance Claim

2. 9T oI /Branch A/c

3. Y Joidh / Stock Valuation

4. 3 W/ Final Afc
XX

(iii)

oSl
e

3. /PT.0.



Q. 4.

Q. 5.

P P IR0 A FIT AT 8?7 IP & AR | T2 &I
e T 87

What is meant by dishonor of a cheque? What are the main provisions
relating to dishonor of a cheque?

7T ST T T 82 59 GRT YN fIbrId & o & foru
TS ST dTeft Ufehar @1 aufT Hifve |

What is district consumer forum? Describe the procedure adopted
for the redressal as of consumer complaints by the forum.

OR / 3141

AT B aRAET AR | ISR & UPR I

Define partnership. Mention the various types of partnership.

IO FEAf | T M 8? AT Be Tadd el " St 87
3TY & ol 3D F5d DI THSRY |

What is meant by free consent? When is consent not free? Discuss
its importance in contract.

OR / 3@t
fferRaa or fewoft forReu -

Write notes on the following :
(i) ATSISRY BT USTIT / Registration of Partnership

(i) IR® TeAT JATfAETeRD g 3R / Distinction between holder and
holder in due course.

*ee

(i)

D117 BCOM-04
B.COM. FIRST YEAR EXAMINATION, 2016
(Correspondence Course)

PAPER -lll : BUSINESS REGULATORY FRAMEWORK
TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

e

Q. 1.

: Yt goT 8o Ffory 1 Yl geat & i warT &/

TREITG <l IRTST SR 2T 39! faLISaR 9d1sy |

Define offer and explain its characteristics.
OR / 31&dr

Y TR DT JFIAT A MY FAT TS 87 I P & ARG
T DDA &?

What do you understand by capacity to contract? Who are the various
persons declared by law to enter in to contract?

BIFRET =T | Y a7 qHS 82 BR&P T E-RETIR &
3MRPRI Pi fde=T HIRR |

What do you understand by the contract of Indemnity? Discuss the
rights of Indemnifier and Indemnified.

OR / 31ed1
e g 87 fyerd) gen HeuuEar & sl a1 Seokg HIRTT |

What is Bailment? Describe the duties of a Bailer and a Bailee.

TfISIT— U Pl a7 eI &2 $ThT fAfFFTI—Ua 317k TUSE HIfTY |

Why is promissory note needed? Distinguish it from bill of Exchange.

OR / 31T

(i)

oSl
e
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(iii) SIRI/Dealer

(iv) fa%a/sales
OR / 31e[@r

FRIGHT TR & SR et o1 FafRor o arer Rigral o q9s1sy |
Jerevnr of S

Explain the principles determining the sale in course of inter-state
trade. Give examples.

o fIpa R IR 1956 & Idifd AMITRAT & USTIA & Taem =i
T JUA HINTT |

Explain the provisions of the CST Act 1956 relating to registration of
the dealers.

OR / 3efar
faeh Hedr T 3Tad Pl FHS §U b AR DI TISC DI |

Explain the meaning of sale price and turnover and clarify difference
between them.

RS o giNafefa ax SIfifRM & d8d R &l &R & Ty fovegd
oRg forlRa |

Write a detail note on rates under the Rajasthan value added Tax
Act.

OR / 1@t

IR o URaffa o IfafFRm & srfa R &I axgell T & diH-
DH-H AT §? Ty |

What are the various modes of recovery of tax under the Rajasthan
value added tax Act. Explain.

(ii) "
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BCOM-05
B.COM. FIRST YEAR EXAMINATION, 2016
(Correspondence Course)
PAPER - IV : TAX PROCEDURE & PRACTICES
3.00 HRS. MM : 70

Attempt any five questions. Each question carries equal marks.

: PIF Grg T & By TH 7T & HE AT &/

FRRIYUT 3 3T AT A 8?2 PRRIYYT &b 3T BT qui HIRAT |
What do you mean by Taxation? Explain the objectives of Taxation.
OR / 312@1

wTfciefiet R | 31T T ST 52 Wcefier e & &t 3iR fauer § qdb @
NEEIEN

What do you mean by progressive tax? Explain arguments for and
against progressive taxation.

ORT H YIET qAT TS PRI D AT TBhRT T guie BT |

What are the different types of direct and Indirect taxes in India
Explain.

OR / 37&qar
IRT H P TR PRIV BT R F0H BHIFT |

Explain Agriculture Taxation in India in detail.

I faga ax rfafa & orFarfa fr W wfem fewafirt faRau |
Write short notes on the following under the central sales tax Act.

(i) #|Tel/Goods

(i) =NfSd A1eT/ Declared Goods

(i)
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D119 BCOM-06

B.COM. FIRST YEAR EXAMINATION, 2016
(Correspondence Course)
PAPER - V : BUSINESS STATISTICS

TIME : 3.00 HRS. MM : 70

A :fa=T gig geat & guv o g9t geat & @ garT &/

Note: Attemptany five questions. Each question carries equal marks.

Q. 1. What is statistical table? What are its objects and importance in a
statistical enquiry?

b ARl oy dwed §° U Aifedhi s A ARt &
I UG AET 87

Q. 2. From the following series calculate Mean, Median & Mode.

=T AR | Fege, AfEIDT T TgeID DI TUAT DR |

Value (9¢9) Frequency (3TTgfT)
10-20 - 04
10-30 - 16
10-40 - 56
10-50 - 97
10-60 - 124
10-70 - 137
10-80 - 146
10-90 - 150

Q. 3. What is skewness? How will be skewness be tested in a distribution?
Explain with examples.

forsmraT foh et &2 Uep faaRur § fawHar Y S fpd epR Y STl &2 Serexur
afed T |

(i)

oSl
e
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. Complute the standard deviation from the following data.

f=ifopd ST I YHM forae™ &t T SRR |
Midpoint 1 2 3 4 5 6 7 8 9
Frequency 2 60 101 152 205 155 79 40 01

Explain the meaning and significance of the concept of correlation.
g e ot 3ref 3R " FeraR forRay |

. Given the following data, what will be the likly yield when rainfall is

29 inches.
=T T o T &, IF9Teg SuST &7 BN, Ife guf 29 ST &l |
Rainfall Production
Per acre
Mean (H7eY) 25" 40 unit
Standard deviation 3" 6 unit
(v farerer )
Correlation Coefficient r=+0.8
GESEERICD)

. What is time series? How will you analyse them?

PIeT HA0fT AT B2 31T IThT h {A9IT0T et 27

. Calculate Fisher's ideal Index number from the following data.

1 Tl A fheR & areel gadie &t ToHT HIY |

Item Price Quantity
2014 2015 2014 2015
A 8 20 50 60
B 2 6 15 10
C 1 2 20 25
D 2 5 10 8
E 1 5 30 40

(i)

Q. 9. Calculate Coefficient of skewness from the following data.

ferforRae Twet & fasHaT o ST HIRT |
Central Value Frequency
15 33
20 28
25 25
30 24
35 20
40 21

Q. 9. What is cost of living index numbers? Explain its uses also.

Sita frafe Sgamia {5 ded 87 gadh! ISTNfIar o1 aufq HifRv |

(iif)

*e



OR / 1@t

goft @ R ST | doft fHfor @ oifdd &= arer dcal & forae
DI |

Define capital. Discuss the factors affecting capital formation.

[a W aN

SISl % ARAdT g Rigl—d Dl ITATTIHD FHIET B \GQ |

Critically examine the liquidity preference theory of interest.
OR / 37efan

T & ATYFD Rigr= Bl e HIRY |

Explain the modern theory of wages.

Peel a1 IR fewoft fors / Write short notes on any two.

(i) =7 @1 =
Law of demand

(i) UPIPR
Monopoly

(iii) 3Dl INIR

Short term market

OR / 31ar

ISR e fIeeiur Pt g < 8T S9! T fAQwdmall 1 Ieerd
DI |

Define indifference curve analysis and mention its main
characteristics.

*ee

(i)

D120 BCOM-07
B.COM. FIRST YEAR EXAMINATION, 2016
(Correspondence Course)

PAPER - VI : BUSINESS ECONOMICS
TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.
AT : @¥ft gog g1 Fifory ! @yl geTl & 3F T &/
Q. 1. &R rfaRa 6 aRyTeT < | e fufal & raarfie srefame

& ffidT P Ieed I | /Define business economics. Examine the
role of business economics in business decisions.

OR / 3reqar
AT ST BT 8 6 FRear Y@TE H A § BT | gqdh
SiEIERIE
Explain the law of diminishing marginal utility with the help of
diagram and give its limitations.

gfcf & o @ FFEIEY | g @ HF-PH | T THIRIT R 8 ?

Explain the law of supply. What are the factors which affect the supply
of a commodity?

OR / 31ar

AT ST RIgd Bl R BT | ATee & Rigrd ¥ I8
TPR 4I5S E |

Explain the optimum theory of population. State how is it improvement
over the Malthusian theory of population.

e Yo § T dca & HEd o AfeH RS BT |

Discuss the importance of time element with help of a diagram.

(i) ®.Y93./PT.0.



Product X Product Y
(IcurEsd Ua) (IcUTEs aTd)

S o]
Direct Material P.U. 400 360
e AT ufd gaere
Direct wages 1 per hour P.U. 120 80
ufcr gt ufcr 3arg uae 5|
Selling price P.U. 800 600
faa qea uf gars
Variable overheads per hour 1 1
gfcr gt yRadeiter IuRey

Total fixed overheads are Rs. 64,000 per annum.

ol TRt IuReET 64,000 I9 Ufer I

You are asked which of the following products mix adopted for sales.
MO A gBT el &, 6 FrafeRea & @ o Sare s g 2g
YA ST |

(a) 200 Units of X and 400 Units of Y

(b) 300 Units of X and 300 Units of Y

(c) 400 Units of X and 200 Units of Y

OR / 3reqar

What is the meaning of product and product decisions? What types
of decisions are taken under it?

IS Td IqTe ol | T 1M 87 599 fhd TR & ol ford St € |
'Y

(iv)
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TIME :

Note :
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BCOM-08
B.COM. FIRST YEAR EXAMINATION, 2016
(Correspondence Course)
PAPER - VII : BUSINESS BUDGETING
3.00 HRS. MM : 70

Attempt all questions. Each question carries equal marks.

Tt go7 87 Fforv | wHt geal & F THIT &/

What do you mean by business budgeting? State the procedure for
preparation of budget by a business undertaking.

ITGATRG Sole W 3T T AT &7 Uh TP I gRT ol
IR B &Y UfehaT TR Th1eT STfer) |

OR / 3reqar

Write short notes on the following/fF= W= fcwufia forRay-
(i) Budget period/dsic rdier
(ii) Key Budget factors/99d sSic HRD

Explain the various theories of Business forecasting.

AR gafgAr & fafter Rigral & e St |

OR / 3re@r

The average weekly wages of working class of Ajmer is Rs. 12 and
that of jaipur is Rs. 18, their standard deviations are Rs. 2 and Rs 3
respectively and their coefficient of correlation is + .67

If the wages at Ajmer are Rs. 20, then calculate the maximum
expected wages at Jaipur.

(i) $©.93./PT.0.



3SR H Ueh BRINA af i AT ATHIRS FAolgy 12 30 & 3R TIYR Dl
18 IT &, I YA e Sael: 2 3R 3 B, T IaT Aedey qoTd
+ 6781

IR SR H FuIgY 20 B &, Al TR H Faffes Fefad Foredt S Hifog |

What is master budget? Describe briefly the usual subsidiary budgets
of master budget./TReX Nlc AT &? ARCX Ioic & FERID qole] Pl

H&g § faae= i |

OR / 3reqar

A company manufactures two products A and B. A forecast for the
number of units to be sold in the first four months of the year is given
below.

Month Product-A Product-B
(Units) (Units)
January 3,000 6,000
February 3,400 6,000
March 4,200 5,200
April 5,000 4,400

Finished units equal to half the sales for the next month will be in
stock at the end of each month (including previous December).

Prepare for the three month ending March 31, a production budget
for each month.

Tep DUl 2 IIET ‘3 TAT ‘T’ BT T PRl B 1 a¥ P g IR HIE H

It A aTeft gt Y vear § gafgae F fag g E-

HT8 Idedh ‘31’ I 9’
(Zpran) (Sepra)

SRt 3,000 6,000

(i)

Q. 4.

AR 3,400 6,000
Aref 4,200 5,200
et 5,000 4,400

YAP A1 & 3T F [T shrsal @1 Ieia srrer A8 d b (T R
AfEd) @1 e

31 91 Pl FHH BN dlel dF HEHT & foU Udd HIE BT SUTe doic
ERIE
Write short notes on the following.

(i) Budget Manual

(ii) Budget Co-ordination
7 &R fewofiar ferRag-
(i) SoTC gfRecTent

(ii) SoTe T

OR / 3re@r

Write short notes on the following.
(i) Use of alternative production of facilities.
(ii) Determination of the profitable level of production.

o @R feugofia ferRau-
(i) SIS Dl Jfedd Jaamsit & T |
(ii) SeUTE &t AT o UedT @1 woR HafRd ol

The directors of Ram limited have submitted the following information.
regarding its two products Xand Y :

M A & HaTer! 7 U a1 ScUIe] I T a1 o Hay H frfeRad
TN TR T &

(iii)



